
8809-000009    CHIEF MANUFACTURING INC. 1-800-582-6480, Fax: 1-877-894-6918, Email: chief@chiefmfg.com 
 
 

PAC-130/PAC-135 
LOCKING DEVICE ACCESSORY 

The locking device accessory is designed to add security to the PRO, PST, and PSM Chief mounts. 

 
Unpack and check contents: See Figure 1 

 
Figure 1 

(2) SCREW, flat head, undercut, #10-24X1/2 (1) FLAG, locking 
(2) NUT, Nylock, #10-24 (1) HASP, lock 
(2) WASHER, Nylon, .03thk, ½ OD, 5/16 ID (1) LOCK (not shown - Model PAC-135 only) 
 

INSTALLATION INSTRUCTIONS 

1. Remove existing latching flag from mount, retaining flag and mounting hardware for reuse. 

2. Using #10-24 screw, #10-24 nut, and Nylon washer, attach lock hasp to existing latching flag (see Figure 2). 

NOTE: Proper assembly may require moving flag from one side of the mount to the other. Flag must be 
installed on left (viewed from front) side of PRO or PST mount. Flag may be installed on either side of PSM. 

3. Place Nylon washer and existing flag, with lock hasp attached, on top of mount as shown in Figure 2. 

4. Place locking flag on bottom of mount as shown in Figure 2. 

5. Secure existing flag, with lock hasp attached, and locking flag to mount using retained mounting hardware. 

      Figure 2      

 

Hasp 
Existing Flag 

Locking Flag 

PRO and PST PSM 

Nylon washer 
between flag and 

Right or Left as Necessary 


